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public class Problem1 {
public static void main(String[] args) {
for(inti=1;i1<=5;i++) {
for(intj=1;j<=1i; j++)
System.out.print(' );
for(intj =1;j <= 6-i; j++)
System.out.print("**");
System.out.printin();
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2 1s prime.
3is prime,
5is prime.
7 is prime.
11 is prime.
13 is prime.
17 is prime.
19 is prime.
23 1S prime.

491 is prime.
499 is prime.

95 primes found.
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public class Problem3
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{
public static int sumOfEvens(int x)
{..}
public static void main(String[] args)
{
System.out.printf("sumOfEvens(0) = %d\n", sumOfEvens(0));
System.out.printf("sumOfEvens(1) = %d\n", sumOfEvens(1));
System.out.printf("sumOfEvens(2) = %d\n", sumOfEvens(2));
System.out.printf("sumOfEvens(10) = %d\n", sumOfEvens(10));
System.out.printf("sumOfEvens(15) = %d\n", sumOfEvens(15));
}
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sumOfEvens(0) =0
sumOfEvens(1) =0
sumOfEvens(2) = 2
sumOfEvens(10) = 30
sumOfEvens(15) = 56

2~ 3B AT Python #2538 end 78 5% < (15 4 )
dFef secret(nums, target):
seen =]
for index, num in enumerate(nums):
other = target - num
if other in seen:
return [seen[other], index]
else:
seen[num] = index
return []
print(secret([1,3,5], 4))
print(secret([2,3,6,8,10], 16))
print(secret([1,3,5], 7))
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public String toString()
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public class TeeShirt

{
private int orderNumber;
private String size;
private String color;
private double price;

public void setOrderNumber(int num)
{ orderNumber = num; }
public void setSize(String sz)

t
size = sz;
if(size == "XXL" || size == "XXXL")
price = 22.99;
else
price = 19.99;

public void setColor(String color)
{ this.color = color; }

public int getOrderNumber()
{ return orderNumber; }
public String getSize()

{ return size; }

public String getColor()

{ return color; }

public double getPrice()

{ return price; }

public String toString()
{..}
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public class CustomTee extends TeeShirt

{

private String slogan;

public void setSlogan(String slgn)
{ slogan =slgn; }

public String getSlogan()

{ return slogan; }

public String toString()

{1}

public class DemoTees

public static void main(String[] args)

{..}
}

I

Order # 100
Description: S red
Slogan: Cute Girl
Price: $19.99

Order # 101
Description: S red
Slogan: Cute Girl
Price: $19.99

Order # 102
Description: XXL blue
Slogan: Happy Boy
Price: $22.99

Order # 103
Description: XXL blue
Slogan: Happy Boy
Price: $22.99

Order # 104
Description: XXL blue
Slogan: Happy Boy
Price: $22.99

Total: $108.95



